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1. Which of the following is most

electronegative ?

A. Lead

B. Silicon

C. Carbon

D. Tin

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NnqpU4fpXwah
https://dl.doubtnut.com/l/_nzaGrXjTXViU


2. Group number and valency has no relation

in

A. zero group

B. first group

C. IIIrd group

D. VII group

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nzaGrXjTXViU


3. In second period most acidic oxide is formed

by

A. F

B. N

C. O

D. Li

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_qP75cyJgudel
https://dl.doubtnut.com/l/_9OFbWPtnjY0V


4. On the basis of valencies of elements in a

group, the formula of compound formed by

tin with fluorine is

A. SnF

B. 

C. 

D. 

Answer: D

Watch Video Solution

SnF3

SnF6

SnF4

https://dl.doubtnut.com/l/_9OFbWPtnjY0V
https://dl.doubtnut.com/l/_pIn7Q6Z3WzQI


5. In a period, the element with least atomic

size is

A. alkali metal

B. halogen

C. inert gas

D. chalcogen

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_pIn7Q6Z3WzQI


6. Which of the following has least density?

A. Na

B. Li

C. Mg

D. K

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3ASl3ELuHrOg


7. Which of the following groups may contain

a metalloid?

A. IA

B. IIA

C. VIA

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Uyxk3GYfWA6I
https://dl.doubtnut.com/l/_Nvp7zIvmBUHr


8. Name the block in which metals, metalloids,

non-metals and inert gases all are present

A. s-block

B. p-block

C. d-block

D. f-block

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Nvp7zIvmBUHr


9. Which has highest boiling point?

A. 

B. 

C. 

D. Xe

Answer: B

Watch Video Solution

CH4

Cl2

H2

https://dl.doubtnut.com/l/_iKr2nH5OcTHP


10. Which of the following has the smallest

radius?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

O2 −

F −

Li+

Be2 +

https://dl.doubtnut.com/l/_URzsXBOe6Ak4
https://dl.doubtnut.com/l/_rejqnWbICGyi


11. The cation which is least stable is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Li+

K +

Al+ 2

Si2 +

https://dl.doubtnut.com/l/_rejqnWbICGyi


12. The number of periods in Mendeleev's

periodic table is

A. 16

B. 8

C. 9

D. 7

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_7P3M4NO1cf60
https://dl.doubtnut.com/l/_DMF86jmxl18k


13. The least electronegative element in the

periodic table is

A. Na

B. Rb

C. Cu

D. Xe

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_DMF86jmxl18k


14. Element with atomic number 17 has its

place in periodic table

A. III period, VIl group

B. VIl period, VIl group

C. IV period, VIl group

D. II Period, VI group

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XiEHNfpKm0rg
https://dl.doubtnut.com/l/_fg0p9ZhwCjMh


15. The only metal which is liquid at  is

A. Iron

B. mercury

C. sodium

D. aluminium

Answer: B

Watch Video Solution

0
∘C

16. Which one has least ionisation potential?

https://dl.doubtnut.com/l/_fg0p9ZhwCjMh
https://dl.doubtnut.com/l/_lDh7PH5Pmvv5


A. N

B. O

C. F

D. Ne

Answer: B

Watch Video Solution

17. In III rd period, the most acidic oxide is

formed by

https://dl.doubtnut.com/l/_lDh7PH5Pmvv5
https://dl.doubtnut.com/l/_JWdCkl1XkhqD


A. Na

B. P

C. Cl

D. S

Answer: C

Watch Video Solution

18. The element with electronic configuration

 is3d5
4s1

https://dl.doubtnut.com/l/_JWdCkl1XkhqD
https://dl.doubtnut.com/l/_7QGEDfjjgyoE


A. metalloid

B. non-metal

C. transition element

D. metal

Answer: C

Watch Video Solution

19. VIII group of periodic table contains

A. 6 elements

https://dl.doubtnut.com/l/_7QGEDfjjgyoE
https://dl.doubtnut.com/l/_BTAgaEgaYDIy


B. 12 elements

C. 3 elements

D. 9 elements

Answer: D

Watch Video Solution

20. Which of the following has the largest

ionic radius ?

A. Be2 +

https://dl.doubtnut.com/l/_BTAgaEgaYDIy
https://dl.doubtnut.com/l/_xem8H2HUCmcn


B. 

C. 

D. 

Answer: D

Watch Video Solution

Mg2 +

Ca2 +

Sr2 +

21. The telluric helix was given by

A. Newlands

B. Mendeleev

https://dl.doubtnut.com/l/_xem8H2HUCmcn
https://dl.doubtnut.com/l/_zyxap7FzhUCd


C. Lothar Meyer

D. Dechen Courtious

Answer: D

Watch Video Solution

22. An element has electronic configuration 2,

8,18, 7. Its place in periodic table is in

A. I group

B. II group

https://dl.doubtnut.com/l/_zyxap7FzhUCd
https://dl.doubtnut.com/l/_ZsLfyea6UKzs


C. VII group

D. VIII group

Answer: C

Watch Video Solution

23. Which of these ions is smallest in size?

A. 

B. 

C. 

O2 −

C 4 −

F −

https://dl.doubtnut.com/l/_ZsLfyea6UKzs
https://dl.doubtnut.com/l/_aS7gjsuYHSaA


D. 

Answer: C

Watch Video Solution

N 3 −

24. Downwards in a group, the electropositive

character of elements

A. Increases

B. decreases

C. remains same

https://dl.doubtnut.com/l/_aS7gjsuYHSaA
https://dl.doubtnut.com/l/_hCXH7UkbXNbT


D. None of these

Answer: A

Watch Video Solution

25. The first attempt to classify elements was

made by

A. Mendeleev

B. Lothar Meyer

C. Newlands

https://dl.doubtnut.com/l/_hCXH7UkbXNbT
https://dl.doubtnut.com/l/_CwL4XrNiT3f3


D. Doberelner

Answer: D

Watch Video Solution

26. Which pair of elements is chemically most

similar?

A. Na, Al

B. Cu, S

C. Ti, Zr

https://dl.doubtnut.com/l/_CwL4XrNiT3f3
https://dl.doubtnut.com/l/_JLRWILE6ZFFw


D. Zr, Hf

Answer: D

Watch Video Solution

27. Transition elements are

A. Fe, Co, Nl

B. Li, Na, K

C. Cl, Br, I

D. Ba, Sr, Ca

https://dl.doubtnut.com/l/_JLRWILE6ZFFw
https://dl.doubtnut.com/l/_ohCKwF8iZG8u


Answer: A

Watch Video Solution

28. The three elements having chemical

symbols of Si, B and Ge are

A. all metals

B. all non-metals

C. Si is metal, B and Ge are non-metals

D. all metalloids

https://dl.doubtnut.com/l/_ohCKwF8iZG8u
https://dl.doubtnut.com/l/_q6h7kFHqU9ZG


Answer: D

Watch Video Solution

29. Which of the following compounds are

analogous to the lanthanides?

A. Actinides

B. Borides

C. Carbides

D. Hydrides

https://dl.doubtnut.com/l/_q6h7kFHqU9ZG
https://dl.doubtnut.com/l/_L9XI2uA0ZraB


Answer: A

Watch Video Solution

30. Which of the following order of ionisation

energy is correct?

A. 

B. 

C. 

D. 

Be < B < C < N < O

B < Be < C < O < N

Be > B > C > N > O

B < Be < N < C < O

https://dl.doubtnut.com/l/_L9XI2uA0ZraB
https://dl.doubtnut.com/l/_ec4TR6NjHqs3


Answer: B

Watch Video Solution

31. Which of the following is a non-metal?

A. Gallium

B. Indium

C. Boron

D. aluminium

Answer: C

https://dl.doubtnut.com/l/_ec4TR6NjHqs3
https://dl.doubtnut.com/l/_9oUnPPzOuZEz


Watch Video Solution

32. In which of the following, the tendency

towards the formation of coloured ion is

maximum?

A. s-block elements

B. d-block elements

C. p-block elements

D. All of these

Answer: B

https://dl.doubtnut.com/l/_9oUnPPzOuZEz
https://dl.doubtnut.com/l/_fGyq8ujyZ8u5


Watch Video Solution

33. The first IP in eV of N and O are respectively

A. 14.6, 13.6

B. 13.6, 14.6

C. 13.6, 13.6

D. 14.6, 14.6

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_fGyq8ujyZ8u5
https://dl.doubtnut.com/l/_Gn7use7fN7TI


34. In the following, the element with the

highest electropositivity is

A. copper

B. cesium

C. barium

D. chromium

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Gn7use7fN7TI
https://dl.doubtnut.com/l/_4Az7uV2Cv3e1
https://dl.doubtnut.com/l/_Z44bAP85Ds82


35. Which of the following is known as wonder

element?

A. Zr

B. Zn

C. Ti

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Z44bAP85Ds82
https://dl.doubtnut.com/l/_ZgvrkhILncwH


36. Which of the following species has lowest

ionisation potential?

A. 

B. O

C. 

D. 

Answer: D

Watch Video Solution

O2

O+

2

O−

2

https://dl.doubtnut.com/l/_ZgvrkhILncwH


37. Which of the following has maximum

density?

A. Fe

B. Cu

C. B

D. Pb

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Ze5ajrm7CQjU
https://dl.doubtnut.com/l/_InBbdgnFVyEh


38. Number of unpaired electrons in inert gas

is

A. 0

B. 8

C. 4

D. 18

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_InBbdgnFVyEh


39. Which is isoelectronic with hydride ion?

A. He

B. 

C. 

D. 

Answer: A

Watch Video Solution

He+

Li+

H +

https://dl.doubtnut.com/l/_i4qU9s3mCawt


40. First ionisation potential of Mg is .... than

that of Al.

A. less

B. more

C. equal

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_qyuuBsrwcDr6
https://dl.doubtnut.com/l/_hh1SeQt107Ng


41. Who developed the long form of periodic

table?

A. Lothar Meyer

B. Niels Bohr

C. Mendeleev

D. Moseley

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_hh1SeQt107Ng


42. The base of modern periodic table is

A. atomic weight

B. atomic number

C. atomic volume

D. atomic energy

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dwxGlJDGYe0u


43. Dobereiner triad is

A. Na, K, Rb

B. Mg, S, As

C. Cl, Br, I

D. P, S, As

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3iR6rhNh7NFd


44. Zero group was introduced by

A. Lothar Meyer

B. Mendeleev

C. Ramsay

D. Lockyer

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_iiJF3YpuBtwv


45. Which of the following statement about

the modern periodic table is correct?

A. It has 7 vertical columns known as

periods

B. It has 8 horizontal rows known as

groups

C. It has 18 vertical columns known as

groups

https://dl.doubtnut.com/l/_C7diLiYU6DQd


D. It has 9 horizontal rows known as

periods

Answer: C

Watch Video Solution

46. Which of the following has the lowest

ionisation potential?

A. 

B. 

3d2

4s1

https://dl.doubtnut.com/l/_C7diLiYU6DQd
https://dl.doubtnut.com/l/_NksGTfqVt1Xo


C. 

D. 

Answer: B

Watch Video Solution

2p6

3p5

47. If an element X forms an oxide , then

find the group in Mendeleev's periodic table

where it is placed

A. group III

X2O3

https://dl.doubtnut.com/l/_NksGTfqVt1Xo
https://dl.doubtnut.com/l/_yGD7D9PvXfBX


B. group V

C. group VII

D. group VIII

Answer: A

Watch Video Solution

48. In which of the following carbon is most

electronegative?

A. sp

https://dl.doubtnut.com/l/_yGD7D9PvXfBX
https://dl.doubtnut.com/l/_xqJQNsxrJSDe


B. 

C. 

D. Same in all

Answer: A

Watch Video Solution

sp2

sp3

49. C and Si are placed in the same group,

because

A. both form chlorides with chlorine

https://dl.doubtnut.com/l/_xqJQNsxrJSDe
https://dl.doubtnut.com/l/_wrdenBZLNSFA


B. both react with hydrogen

C. both have name number of electrons in

their outermost orbit

D. both form oxide with oxygen

Answer: C

Watch Video Solution

50. Which of the following has highest melting

point?

https://dl.doubtnut.com/l/_wrdenBZLNSFA
https://dl.doubtnut.com/l/_6ycUUxq0GOWk


A. NaCl

B. NaBr

C. NaF

D. NaI

Answer: D

Watch Video Solution

51. Which of the following is not a periodic

property?

https://dl.doubtnut.com/l/_6ycUUxq0GOWk
https://dl.doubtnut.com/l/_qo39k0hD7d7k


A. Density

B. Atomic volume

C. Atomic radii

D. Ionisation potential

Answer: A

Watch Video Solution

52. The alkali metals

A. form salt like hydrides

https://dl.doubtnut.com/l/_qo39k0hD7d7k
https://dl.doubtnut.com/l/_z2N4O9o6AsgF


B. form salts which are predominantly

covalent

C. show decreased chemical reactivity with

dry oxygen in going from Li to Cs

D. show increasing electronegativity from

Li to Cs

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_z2N4O9o6AsgF


53. If an element is in fifth group, then with

respect to the hydrogen, it has valency

A. 6

B. 5

C. 3

D. 2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_XoSbuStFQopw
https://dl.doubtnut.com/l/_HEIv6W3Gcp7t


54. Which of the following is not the

characteristics of alkali metals?

A. Low melting point

B. Low electronegativity

C. High ionisation energies

D. Highest reducing power in its period

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HEIv6W3Gcp7t


55. The alkali metals are strong reducing

agents due to

A. low ionisation energy

B. large ionic radii

C. high enthalpy of hydration

D. low potential value

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SuOMazyB8403
https://dl.doubtnut.com/l/_HjaKzoAdJozo


56. Which of the following is paramagnetic?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2O

K2O

Na2O2

KO2

https://dl.doubtnut.com/l/_HjaKzoAdJozo


57. A trend common to both alkali metals and

halogens is that as the atomic number

increases

A. atomic radius increases

B. boiling point increases

C. electronegativity increases

D. reactivity with water increases

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_UnJFmQdYWvF0


58. Which of the following has density greater

than water?

A. Li

B. Na

C. K

D. Cs

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LsYSNzCv35sX
https://dl.doubtnut.com/l/_OfACvckvUYPG


59. With the increase in atomic

weights,melting points of the alkali metals

A. increase

B. decrease

C. remains constant

D. do not show definite trend

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OfACvckvUYPG


60. Compared with alkaline earth metals, the

alkali metals exhibit

A. smaller ionic radii

B. greater hardness

C. high boiling point

D. lower ionisation energies

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_XxKhyPclFm2X

